MICROECONOMIC PROBLEMS

CLASS #1, 22nd of February 2005.

Problem 1

Draw budget constraint and give its formula knowing the prices p1=2, p2=4, and income M=60. In what proportion can these goods be exchanged for each other?

This is our original budget constraint. In what follows you are supposed to compare the original situation with new ones. In particular, please take into account the consumer's predicament; does it improve or deteriorate? Try to explain these changes graphically. Note any changes in exchange ratios. This is a typical "what -- if" analysis.

· income is doubled

· p1 decreases by 1

· p2 increases by 1

· p1 increases by 1 and income increases by 12

· income increases by 100%, whereas p1 and p2 increase by 100%

· x1 becomes a free good (its price is zero)

· a limit on trading is introduced: one cannot buy more than 5 units of x2
· the first 10 units of x1 can be bought at the price of 2.5, while the next units are priced 1.5 each. The price p2 and income M are constant

Problem 2

A mathematical refresher. Please, find missing data and draw budget constraints.

· We know prices p1= 2, p2= 5, income M = 150. We bought 3 units of x1. How many units of x2 can we afford assuming that our entire income is spent?

· We know prices p1= 3, p2= 5, but we would like to calculate income knowing that the bundle (x1, x2) = (1,20) is located on the budget line.

· We know that income M = 100 and the bundle (x1, x2) = (6,12) is located on the budget line. Can we determine prices?

· We know that both bundles -- (x1, x2)1 = (20,30) and (x1, x2)2 = (6,8) -- are located on a consumer's budget line. What can we infer from this?

· We know income M = 100 and the price ratio p1/ p2= 4. What can we infer from this?

Problem 3 – Club membership

A new club was opened in the neighbourhood. Tomek likes its music and therefore plans to attend the club events. A single ticket costs 20. However, Tomek can buy annual membership for 200. With the club membership card single tickets cost 4 for each event. A movie theater is an alternative leisure that Tomek considers. A single ticket to the movies costs 10. Tomek spends on his leisure approximately 1000 per annum. Under what circumstances buying the membership card is beneficial for Tomek?


Problem 4 – Taxes

One can assume that a typical consumer chooses between food and clothes. The average price of a unit of food is 4, while the average price of a unit of clothing is 10. The government plans to impose a 20% tax on clothing. An alternative considered is an income tax levied on each consumer. Please determine the lowest income-tax rate which makes consumers worse-off than under the clothing-tax scenario.

Problem 5 – Food coupons

In some social welfare systems there are food coupons for poor consumers allowing them to get some basic goods for free. Would changing these coupons for money equivalent improve their well-being? Please solve the problem analytically; and interpret the solution graphically.

Problem 6 – Subsidies and taxes

Assume that a consumer bought two goods only: food (Z) and clothing (U). The quantities bought were Z=10, and U=5, when their unit prices were pZ=3 and pU=6. The government established a subsidy of 2 for every unit of food and a tax of 4 for every unit of clothing. What was the impact of these regulations on the consumer's welfare? Would adding some information on the shape of the consumer's preferences change the answer to the previous question?

